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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given
instructions.

E9r .- ' yvA-u3 ‘o1’ iR ‘9’ 1 wuEl § fawifea §1 veew

Tue & FMRUgER T9 % W ST
Section—-A 4%x4=16

(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 4 marks.
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1. (i) What do you mean by natural rate of
unemployment ?
SRS 1 ehfaeh X 9 SAT9ehRT 1 31y § 2
(i1)) Name any eight factors that determine the
productivity of labour.
99 HI IAGHA i FHiRa FH g fFm=E 3e
qoal & 4 fafem)
(ii1)) What do you understand by Seasonal
Unemployment ?
A IS ¥ 9 1 993§ 2
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(iv) Explain the meaning of fair wage.
3fea AeIgd & 319w T HwiST

(v) Explain the meaning of trade union.
gfw ¥9 % 4 B R

(vi) What do you mean by Social Security ?
qrIfSr RN ¥ AU = I T 2

(vii) What do you understand by Bounded

Labour?
SYST 9| W A9 N GHHA § 2

(viii) State the general characteristics of the formal

sector.
Soaier &5 &1 Gmr fauioaed w sy |
Section-B 4x16=64
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 16 marks.
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QUS—a
(g I T99)

feor .- fo=l 9R weAl & SW SIfSUl MU o9 I Al

srfereray 200 vis5i H Ufwifaq wifew) g% 99

16 3% &1 T

2. Write a detailed article on the meaning, scope and

importance of labour economics.
9| AT & 219, &7 @ Hed W fowqa o fafen

3. Enumerate the factors affecting the demand and
supply of labour in India. Why the disequilibrium

arises ?

IRd H 98 HI AT 9 YT R gfaq wE S aw Bl

JATY | STEIET F ST oA ¥ ?
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4. Discuss the causes of unemployment and =AqH HSg # ® 2 U At i g w=en ?

underemployment in India and also suggest

THS IeT T Fefg o1 9uH 9Rd & G2 #§ ifeg|

measures to remove them.
7. Assess the progress of ‘Employees State Insurance

YA H SRS 3R Aeq-USTIR & kR0l i fae=m

. Act, 1948’ of Social Security in India.
FIT T 3% S L & 39 AR Y

ARA | 9IS GRET & CHHER TS S sttt

5. Critically evaluate Lewis and Todaro’s model for
understanding rural to urban migration in 1948 st WA AT SReT HITSTT |

developing countries. . o
8. How far has International Labour Organisation

fererraetier <9it # Trior ¥ wEd YaE w1 gHse % ferg

(I.L.O.) been successful in achieving its objectives ?

dfaq qen Ied & Hied H SATOAHE  HoATh

HfT |

How has India benefited from its membership ?

6. What is Minimum Wage ? Why should it be AT o st (LL.O) 191 Wl =t Wi W

compulsory ? Give your reasons with reference to FE TH TR gl § 7 TEH W § WRa fwd

its objects and position in India. YR oo g & 2
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9. Explain the condition of child labour in India.
Evaluate the reasons behind this and the various
labour laws prescribed by the government to solve

this problem.

g H o g9 it feufd w1 T wifsu) sq9e 1w

SR HROT qA1 36 IR & R ¥ WHER Z

fruifta fafe=r sm +r &1 qoarea st
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